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A small electric bike speed is 24 Jia 24 Spaual) duiliygSl) da)al) deyu AL

2 i 2 i
miles in 3 hours. At this rate, how Juad) ase af (Jural) Vigy Aol 3 &
many miles can it drive in 1 hour? ¢5aaly delu L Ol oS )

Find the unit price if a 5 kg of A rw G Basgl) jau s Gl
sugar sells for AED 30. .AED 30 sl Sl 0 5 Kg
Lk © -6 AED/ K
— = — =
S5 =5 \ 4 J
Sumayya biked 24 miles in A bl Se 24 Ailua doew caks
4 hours. If she biked at a ALl Ae o cijlw 28 il 1)) Lalelu 4

constant speed, how many miles i)y dslu & Jaally \ginkd 1) A8lual) acd

did she ride in one hour?
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4 hours. If she biked at a AL A e Sl 8 S ) alelu 4
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did she ride in one hour?
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20 ﬁ@ix’ﬂ"g_%“ﬁ & 5
| o -

200

B G0 22 %o s e O 5
B 5 s of 0% ) 2 s

22 X fooo ™ _22 000
I n | km | h

= 22600 m/h
Saeed rides his bike at a rate of 300 - ga. 300 Janar dia)y s iy

meter per minute. Lo Wgadaly o (Sa il . e aS
About how many meters per second . G2 daly e

can Saeed ride his bike? (4l 60 = dBids 1 1pmeali)

(Hint: 1 minute = 60 seconds)
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A mechanic charges $270 for e Glelw 9 Jilda $270 SuilSia ualdty

9 hours of work on a car. The daladd) aladicd (Ko Blow Ao Jaal)
equation y = 30x can be used to agall 1 Jialy =.x

represent this situation. d = K 4 Kot culd sas
Identify the constant of J= 30

=30
proportionality k. k 2

=k X ¢ puh e L3 Allaad) L

(a)y:()x; b) x =4y gy =3%41 d)x=y+1
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Solve the proportion 5 =— O — il s
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Youssef paid AED 8 for 12 eggs. .J,Uu -8 gy ads

Determine the cost of 3 eggs. c- 815 saa
. AED 24 % ABD = xZ (@)
12 e aen
. AED 4.5 o < O

2o B2 - %2 o

¢ ¢ AED 1.5 ( “


OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Highlight

OL1
Highlight

OL1
Highlight

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil


sl plgel Colibmial NS (40 2025-2024 iludly aulud! Ciall Hlxiol S A

= /8 GH =%
) 53] A (sl o pgal m @< v i (30
D - 5 et 058 O BB Gl ua o)) 20 oS apglall and 13)
<ol d) E T R——————————— 4#% ................

S;I\f ;I;e proportion: %‘%J;\li);
13 39 . o~ 13 39
‘P‘(}; &J
_ \ é
= AT _¢ oA =€ -
—— N =
b d=6 jﬁ;_ O
. =6
<« d=234 O
« d=28.16 O

sleall palld (ha U gaadi ¥ G sl 5 il


OL1
Highlight

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Highlight

OL1
Highlight

OL1
Highlight

OL1
Pencil

OL1
Pencil

OL1
Highlight

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil

OL1
Pencil


dislud) algeY Cbilxiol NS (10 2025-2024 ©ludly bl Cisall Oloviel S Al

6

Lo dal Datall dddl il

(1-4)

106

18

Lo 2dad Dgiall dsddl il

(31-35)

109

a)_3_()_ +140

100

3°
140 X o0

b)ﬂ —-140
100

X
. 14(‘30% sagl (7

&5 2% 1140
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mx 280

280 X
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Find 9% of 500.
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Find 15% of 200. 200 @8 15% 2
X
> 3,000 200 )(.E. ~ 3o O
~ , S —
b 150 I ?f ‘ O
=30
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What is the total cost of a jacket if sl S 1)) uhus- La
the regular price is AED 20 and the f10% ula.ms, AED 20 ataal)
-1-'

sales tax is 10%7? ..

Jor

[
= 22 AED
Laslll 53¢ o u\m!.w &

a) AED 150 b) Aeps C) AED 500

.............. 8L, . £lo % = 15 7

.............. ".... - ...........'............I...‘....‘.............
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- 45
Kl Rl t‘ Jos 45 9
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10 T 2% oo % g
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What percent of AED 20 is AED 5? (« AED 5 gglud A dygiall duail) La
¢ AED 20
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Write an equation for the problem :ZJL....B. €)
11 is 74% of what nhumber? S LSI e %74 gl 11

A LYl e b OIS 13) . amm3a (e HLIEAY) (lada) A Yl 20 dUa o )

-g:.n by = L UGS
Giuz

8/\5..5))\ - ZSX

T3 ‘ Bal b)) - lw/-25/=35
3—
I
{ Is
By = 2p_5 1|5 gf = Eois 0.
l ’}7 |
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Find the sale price in the discount she Al cilawdasl) 58 A aud) 2

period for a perfume, if its price .60% "AED 650 liai ol 1))
AED 650, and it has discount 60%.

E

b X (&3\ = G_l)( 7 ? =390 A€D

Z:‘));w’ éso.—-SQO = ZéD A‘G'D
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é

A shirt is regularly priced at claudah ¢S LAED 40 (aud) il
AED 40. It is on sale for 15% off cabead) aldl (e 15% pasidly o
of the regular price. — L

What is the sale price of the shirt? 3

. AED 15 T 1o O
£

glar = 40— £=3Y4 RED 0

o

4« AED 25 O
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Find (—4)(2)(-5)- (@) (2)(85) b s

(CRe =~ Yo

. @10)@6) gt aaf
=60

Find: sl gl

-3(-4) (-2) &@L%)

sleall palld (ha U gaadi ¥ G sl 5 il


OL1
Highlight

OL1
Highlight

OL1
Pencil

OL1
Highlight

OL1
Highlight

OL1
Pencil

OL1
Highlight

OL1
Highlight

OL1
Pencil

OL1
Highlight

OL1
Highlight

OL1
Highlight

OL1
Pencil

OL1
Pencil


dislud) algeY Cbilxiol NS (10 2025-2024 ©ludly bl Cisall Oloviel S Al

11 e ddal Aillaall Ae.dll Sy Aoeazeall Syl AHLS 51,3 {1-10) 195
IS [So L
IS +150 = |65 - ,|_15|+|_150|Jsusu,.em\

c) -165 ) -135

Evaluate [3| + |—4|.

Il — 6<=6

Evaluate the expression: t i) dadd .\g.‘,i
2+ |—4| 2+ |—4|
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Find 12 + (-7). A2 + (=7) gt ag
Z_}U 5, 5L Olakse Ol = 5
.—13+18 ™ af
/—\
5/ =5

1+ (2)& (283) sy
| £ &2) \1-93
2

a) —4 ;) 0

T § 6
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C - e
A 2-6_8
100 ¢ \3+
B (232 268 = 2— 12

Write — as decimal.
25

| bR

Write — as a decimal. e 2 Bgua b — o o
— -szs = — _36_— = — 0.0 25
. —0.0025 Howzs 1000 O
o
¢ 0.025 O
4 0.0025 O
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15 Ly L1 S0l (1-9) 303
. 7 X 7 o $. on 3
Maryam’s car has 9H gallons of aslls 9ﬁ aspa Biluw 3g89 (IS 8
gasoline in her fuel tank, then she ‘*(uﬂe 5ﬁ z_u_.“. "
filled 5% gallons, how much TOUA L Gl duas

gasoline is in the tank?
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Je M c\_(p_:;.,._f.» rru_,\m_\a_; ¢ Lppaalis Ae a3 4000 Al B ¢ (3

Yy
y , ¥
4o [ " 40 |
32 32 32 /
24 24 24
8 x X . ’ X
0 246810121 0 24 68101214 0 24 68101214 0 24 68101214

The height of two plants is recorded (gl 3y gl s G50 Jsha Junndd a3

after 1, 2, and 3 weeks as shown i) A mdage oa LaS plad AN aauy
in the graph. Which plants’ growth  JGGEEEREEJEIEIIEE L . LY
represents a proportional fdedally i) O
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